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<nyhwuuhujw
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hwjwnbp hwjwinbp hwdwnnun uwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud ok “X”/ nbwpnud gk “X”/
1 «I:undhpu» umpe X
5 U/ Nniqutuw X
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Quithwpwdhu 5:
Qudwu wnwplw b hwunhuwund' |wgph thngh
<pwybph <pwybph
wwhwugubtpht wwhwugubtpht
Uwutwlygh hwdw u
wwwwufuwuny | shwdwywwmwupuwunn | Luhwiwwywunwufuwunipjut
</< wuyjwunidp
hwjwnbp hwjwinbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubint
nbwpnud ugkip “X”/ nbwpnud ugkip “X”/
1 «I:undhpu» Ufnﬂ X
2 U/ Nniquitw X
<nyhwuthujwu
Opwph ypw ufuwy £ gpyuwd
3 «Utod éhwéw‘u» umnp X rnwml{hﬂwmnlh hwugbh
4 | WA LwnbYy Uwjhywu X
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Uwutwlyhgub Uwutw wnwowplwd
quql':;‘ﬁw é"h Uwutiwlgh /punnywd quhn guiny
wujwunwdp dwutwygh
wmbintpp hwidwi gk /wnwug UKL, ££ npud/
“X?)/
W/Q Mniquituw
! <nyjhwuthujw X 7600
2 «L‘,lmljhpu» umpe 9 966.7
3 W3 LwpbYy Uwihywu 15 000
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9 hwdwywwwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwufjuwunipjwu
</< wujwunidp
hwjwnbp hwjinbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid uok| “X”/ nGwpnd ugk “X”/
1 «Eyndhpu» UMC X
2 U/ Nniquitiw X
<nyjhwuthujwt
Opwph Ynw ufuw) £ gpdwsd
3 «Ubd 6hw6w‘u» umnp X ’ﬂwmt{hnwmmh hwugb‘u
4 | W3 Lwpbty Uwjhpwu X
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e huwidwn ugky S
‘(x"/
W/Q MNniquituw
1 <nyjhwuthujwt X 12000
2 «I:undhpu» U'HD 18 950
3 Wa Lwpty Uwjhywu 25 000
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/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
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1 «I:lmdhpu» U'ﬂD X
2 U/ Nniquiuuw X
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/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubint
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:undhpu» Ufnﬂ X
2 U/ Nniquitw X
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</< wujwunidp
hwjwnbp hwjinbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid uok| “X”/ nGwpnd ugk “X”/
1 «Eyndhpu» UMC X
2 U/ Nniquitiw X
<nyjhwuthujwt
Opwph Ynw ufuw) £ gpdwsd
3 «Ubd 6hw6w‘u» umnp X ’ﬂwmt{hnwmmh hwugb‘u
4 | W3 Lwpbty Uwjhpwu X
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1 W/a LwpbYy Uwjhywu X 3 360
U/ Nniquituw
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3 «Eyndhpu» UMLC 12 490
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</< wujwuntdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:lmdhpu» U'ﬂD X
2 U/ Nniquiuuw X
<nyhwuuhujwt
Opwph ypw ufuwy £ gpgwd
3 «Ubd 6hw6w‘u» umnp X rnUJU'Il{hI’]UJLnnLh hwugb‘u
4 | WA Lwnby Uwjhywu X
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dwutiwlhg
wuyjwunwdp dwutwlygh
wmbntpp hwdwn ohi /wnwug UKL, ££ npwd/
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1 W/ Lwpby Uwhywu X 6 500
2 «I:qndhpu» Uan 6 633.3
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3 <nijhwuthujw 10580
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wwhwugubtpht wwhwugubtpht
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</< wuyjwunidp
hwjwnbp hwjwinbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubint
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:undhpu» Ufnﬂ X
2 U/ Nniquitw X
<nyhwuthujwu
Opwph ypw ufuwy £ gpyuwd
3 «Utod éhwéw‘u» umnp X rnwml{hﬂwmnlh hwugbh
4 | WA LwnbYy Uwjhywu X
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wujwunwdp dwutwygh
wmbintpp hwidwi gk /wnwug UKL, ££ npud/
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1 W/a LwpbYy Uwjhywu X 40 000
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3 <nyhwuupujwu 120000
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</< wujwunidp
hwjwnbp hwjinbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid uok| “X”/ nGwpnd ugk “X”/
1 «Eyndhpu» UMC X
2 U/ Nniquitiw X
<nyjhwuthujwt
Opwph Ynw ufuw) £ gpdwsd
3 «Ubd 6hw6w‘u» umnp X ’ﬂwmt{hnwmmh hwugb‘u
4 | W3 Lwpbty Uwjhpwu X
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dwutwyhg
Uwutwlyhgubtiph Uwutiwygh /punnyws Uwutwlygh wnwowpywué
ot ht? e witiwtindp dwubuiligh |-/ oy ugth << npwd/
e huwidwn ugky S
‘(x"/
1 W/a LwpbYy Uwjhywu X 130
2 «I:undhpu» U'HD 332.5
U/Q Mniquituw
3 <nyhwuthujwu 1800
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Qudwu wnwplw & hwunhuwund' gniqupwup funquitiwy
<pwybph <pwybph
Uwul wwhwugubphu wwhwugubphu
wuliwligh hwiwywwwuluwunn | shwdwywunwuppwung | Luhwdwywunwujuwuniejwu
</< wujwuntdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:lmdhpu» U'ﬂD X
2 U/ Nniquiuuw X
<nyhwuuhujwt
Opwph ypw ufuwy £ gngwd
3 «Utd éhwéw‘u» umnp X rnUJU'Il{hI’]UJLnnLh hwugb‘u
4 | WA Lwnby Uwjhywu X
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dwutiwlhg
wuyjwunwdp dwutwlygh
wmbntpp hwdwn ohi /wnwug UKL, ££ npwd/
“X”/
Wa Nniquituw
! <nyhwlthujwu X 3495
2 «I:qndhpu» UfHD 6 241.7
3 Wa LwpbYy Uwihywu 7 000
Quthwpwdhu 14:
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<pwybph <pwybph
wwhwugubtpht wwhwugubtpht
Uwutwlygh hwdw u
wwwwufuwuny | shwdwywwmwupuwunn | Luhwiwwywunwufuwunipjut
</< wuyjwunidp
hwjwnbp hwjwinbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubint
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:undhpu» Ufnﬂ X
2 U/ Nniquitw X
<nyhwuthujwu
Opwph ypw ufuwy £ gpyuwd
3 «Utod éhwéw‘u» umnp X rnwml{hﬂwmnlh hwugbh
4 | WA LwnbYy Uwjhywu X
Cunpjwéd
dwutiwlyhg
wujwunwdp dwutwygh
wmbintpp hwidwi gk /wnwug UKL, ££ npud/
“X?)/
1 W/a LwpbYy Uwjhywu X 15000
W/Q Mniquituw
2 <nyhwuupujwu 30000
3 «I:lmdhpu» U’ﬂﬂ 49 833.3
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wwhwugubtphtu wwhwugubtpht
Uwutwlgh hwiw
ywwwufuwuny | shwdwwywwmwuppwunn | Luhwiwwywunwufuwunipywu
</< wujwunidp
hwjwnbp hwjinbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid uok| “X”/ nGwpnd ugk “X”/
1 «Eyndhpu» UMC X
2 U/ Nniquitiw X
<nyjhwuthujwt
Opwph Ynw ufuw) £ gpdwsd
3 «Ubd 6hw6w‘u» umnp X ’ﬂwmt{hnwmmh hwugb‘u
4 | W3 Lwpbty Uwjhpwu X
Cunpjws
dwutwyhg
Uwutwlyhgubtiph Uwutiwygh /punnyws Uwutwlygh wnwowpywué
ot ht? e witiwtindp dwubuligh /oy ugth << npwd/
e hwidwn ugky S
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1 «I:undhpu» U'HD X 14 500
2 W/a LwpbYy Uwjhywu 40 000
U/Q Mniquituw
3 <nyhwuthujwu 45000
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Uwutiwlgh hwdw u
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</< wujwuntdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:lmdhpu» U'ﬂD X
2 U/ Nniquiuuw X
<nyhwuuhujwt
Opwph ypw ufuwy £ gpgwd
3 «Utd éhwéw‘u» umnp X rnUJU'Il{hI’]UJLnnLh hwugb‘u
4 | WA Lwnby Uwjhywu X
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dwutiwlhg
wuyjwunwdp dwutwlygh
wmbntpp hwdwn ohi /wnwug UKL, ££ npwd/
“X”/
1 W/ Lwpby Uwhywu X 8 000
2 «I:qndhpu» Uan 9 983.3
W/a Nniquituw
3 <nijhwuthujw 12500
Quthwpwdh 17:
Qudwu wnwplw b hwunhuwund' nny /denwnw, ghuljwwww/
<pwybph <pwybph
wwhwugubtpht wwhwugubtpht
Uwutwlygh
hwdwywwwuppwunn | shwiwywwnwufuwunn | Luhwdwywwnwufuwunipjwu
</< wuyjwunidp
hwjwnbp hwjwinbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubint
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:undhpu» Ufnﬂ X
2 U/ Nniquitw X
<nyhwuthujwu
Opwph ypw ufuwy £ gpyuwd
3 «Utod éhwéw‘u» umnp X rnwml{hﬂwmnlh hwugbh
4 | WA LwnbYy Uwjhywu X
Cunpjwéd
dwutiwlyhg
wujwunwdp dwutwygh
wmbintpp hwidwi gk /wnwug UKL, ££ npud/
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1 W/a LwpbYy Uwjhywu X 5000
2 «L‘,lmljhpu» ume 7 075
W/Q MNniquituw
3 <nyhwuupujwu 11000
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<pwybph <pwybph
wwhwugubtphtu wwhwugubtpht
Uwutwlgh hwiw
ywwwufuwuny | shwdwwywwmwuppwunn | Luhwiwwywunwufuwunipywu
</< wujwunidp
hwjwnbp hwjinbp hwdwnnun ujwpwgpnypeniu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid uok| “X”/ nGwpnd ugk “X”/
1 «Eyndhpu» UMC X
2 U/ Nniquitiw X
<nyjhwuthujwt
Opwph Ynw ufuw) £ gpdwsd
3 «Ubd 6hw6w‘u» umnp X ’ﬂwmt{hnwmmh hwugb‘u
4 | W3 Lwpbty Uwjhpwu X
Cunpjws
dwutwyhg
Uwutwlyhgubtiph Uwutiwygh /punnyws Uwutwlygh wnwowpywué
ot ht? e witiwtindp dwubuligh /oy ugth << npwd/
nupp hwdwp ok g ’ nn
“x"/
1 W/a LwpbYy Uwjhywu X 2500
2 «I:undhpu» U'HD 2 704.2
U/Q Mniquituw
3 <nyhwuthujwu 3300
Quithwpwdhu 19:
Qudwt wnwplw b hwunhuwund® wnpwpyn /wwundwuwihg/
<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutiwlgh hwdw u
wwwwufuwuny | shwdwwywwmwupjuwunn | Luhwdiwwywunwufuwunipyui
</< wujwuntdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:lmdhpu» U'ﬂD X
2 U/ Nniquiuuw X
<nyhwuuhujwt
Opwph ypw ufuwy £ gngwd
3 «Utd éhwéw‘u» umnp X rnUJU'Il{hI’]UJLnnLh hwugb‘u
4 | WA Lwnby Uwjhywu X




Cunpjwé
dwutiwlhg
Uwutiwlyhgubph Uwutiwygh /punngwd Uwutwlygh wnwowplwé
e hl? - wibiduitinuip Hutiwligh 1t ugth << ppud/
nupp hwdwip ok g ’ nn
“X”/
1 W/ Lwpby Uwhywu X 2500
W/Q Mniquituw
2 <nijhwuthujw 4100
3 «Eyndhpu» UMLC 4158.3
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<pwybph <pwybph
wwhwugubtpht wwhwugubtpht
Uwutwlygh
hwdwywwwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwufuwunipjwu
</€ wujwunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubint
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:undhpu» Ufnﬂ X
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Uwul wwhwugubtpht wwhwugubtpht
wutwlgh hwdwywwnwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunidp
hwjwnbp hwjwinbp hwdwnnun uwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnid ok “X”/ ntwpnid gk “X”/
1 «Eyndhpu» UMC X
5 U/ Nniquiuuw X
<nyhwuthujwt
Opwph ypw ufuwy £ gpguwd
3 «Utod 6hUJ6UJU» umnpe X fﬂme{hnuuanh hwugb‘u
4 | W3 Lwpby Uwjhpwu X




Cunpjwé
dwutiwlhg
wuyjwunwdp dwutwlygh
wmbntpp hwdwn ohi /wnwug UKL, ££ npwd/
“X”/
1 U/Q LwpbYy Uwjhywu X 1200
2 «I:qndhpu» Uan 3 250
Quithwpwdh 41:
Qudwu wnwplw £ hwunhuwund' dbfu /2huwpwpwlw/
<pwybiph <pwybiph
wwhwugubtphtu wwhwugubtpht
Uwutiwlgh
hwiwywwmwuluwunn | shwdwywunwuppwung | Luhwdwywunwujuwuniejwu
</< wuyjwunidp
hwjwnbp hwjwnbp hwdwnnun ufuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubint
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:qndhpu» umpe X
2 U/ Nniquituw X
<nyjhwuthujwt
Opwph ypw ufuwy £ gnpyuwd
3 «Ubtd 6hw6w‘u» umnpe X “'lwmd_hnwmmh hwugbh
4 | W3 Lwpby Uwjhpwu X
Cunpjwéd
dwutwyhg
wujwunwdp dwutwygh
wmbntpp huwidwp ot /wnwug UKL, ££ npwd/
“x"/
1 Wa LwpbYy Uwjhywu X 1300
2 «I:lmdhpu» umnpe 1330




Quithwpwdhu 42:

Qudwu wnwplw § hwunhuwund® wwyih /pupdp wdpnipjwu phy/

<pwybph <pwybph
wwhwugubtphtu wwhwugubtpht
Uwutwlgh hwiw
ywwwufuwuny | shwdwwywwmwuppwunn | Luhwiwwywunwufuwunipywu
</< wujwunidp
hwjwnbp hwjinbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid uok| “X”/ nGwpnd ugk “X”/
1 «Eyndhpu» UMC X
2 U/ Nniquitiw X
<nyjhwuthujwt
Opwph Ynw ufuw) £ gpdwsd
3 «Ubd 6hw6w‘u» umnp X ’ﬂwmt{hnwmmh hwugb‘u
4 | W3 Lwpbty Uwjhpwu X
Cunpjws
dwutwyhg
Uwutwlyhgubtiph Uwutiwygh /punnyws Uwutwlygh wnwowpywué
b ht? - witiuitinudp Huutiligh |/ oy ugth << npud/
e hwidwn ugky S
“x"/
1 Wa LwpbYy Uwjhyw X 300
2 «I:undhpu» U'HD 995
U/Q Mniquituw
3 <nyhwuthujwu 3000
Quithwpwdhu 43:
Qudwu wnwplw b hwunhuwund' ywyih BYpn /pwpdp wdpnyejwu e/
<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutiwlgh
hwdwywwwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwufuwunipjwu
</< wujwuntdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud uob “X”/ nbwpnud gk “X”/
1 «I:lmdhpu» U'ﬂD X
2 U/ Nniquiuuw X
<nyhwuuhujwt
Opwph ypw ufuwy £ gpguwd
3 «Utd 6hw6UJU» umnp X rnUJU'll{hI’]UJLnnlh hwugb‘u
4 | WA Lwnby Uwjhywu X




Cunpjwé
dwutiwlhg
Uwutwlyhgub Uwutiw wnwowplwd
quqgggw é"h Uwutiwlgh /g ugl:;hh guiny
wuyjwunwdp dwutwlygh
wmbntpp hwdwn ohi /wnwug UKL, ££ npwd/
HX”/
1 U/Q LwpbYy Uwjhywu X 1500
2 «I:qndhpu» Uan 4 150
W/a Nniquituw
3 <nijhwuthujw 10000
Quthwpwdhu 44:
Qudwu wnwplw £ hwunhuwund' el Ywwpnub /pwpép wdpniejw b/
<pwybph <pwybph
Uwul wwhwugubtpht wwhwugubtpht
wuliwligh hwiwywwwuluwunn | shwdwywunwupuwung | Luhwdwywunwujuwuniejwu
</€ wujwunidp
hwjwnbp hwjwinbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubint
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:undhpu» Ufnﬂ X
2 U/ Nniquitw X
<nyhwuthujwu
Opwph ypw ufuwy £ gpyuwd
3 «Utod éhwéw‘u» umnp X "ﬂwmt{hnwmmh hwugh‘u
4 | WA LwnbYy Uwjhywu X
Cunpjwéd
dwutiwlyhg
UwutwYyhgub Uwutiw wnwowplwd
quqll:gﬁw é"h Uwutiwlgh /punpywd l'gi:}hn guiny
wujwunwdp dwutwygh
wmbnbpp hwidwin gk /wnwug UKL, £ npwd/
uxn/
1 Wa LwpbYy Uwjhywu X 1500
U/Q Mniquituw
2 <nyhwuupujwu 3000




Qwthwpwdhu 45:

Qudwu wnwplw & hwunhuwunud® deynwuhy dwwwybu

<puwybph <pwybph
Uwub wwhwugubphu wwhwugubphu
wutiwlgh hwdwywwwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «I:qndhpu» Ufnﬂ X
5 U/ Nniquitiw X
<nyhwuuhujwt
Opwph Ypw ufuw) £ gpdwd
3 «Utod 5hUJ6UJ‘U» umnpe X "ﬂme{hnuuanh hwugb‘u
4 | WA Lwpbly Uwihpwu X
Cunpjws
dwutwyhg
UwutwYyhgubphp Uwutwlgh /punnywd U wutiwlygh wnwowplyws
b ht? - wtiduitinuip Hutilgh = oy ugth << npud/
e huwdwn ugky S
“x"/
1 W/ Lwpby Uwihywu X 1500
2 «I:undhpu» U'HD 2 483.3
W/Q MNniquituw
3 <nyjhwuthujw > 500
Quithwpwdhu 46:
Qudwu wnwplw § hwunhuwund' dEynwips dwwwytu
<pwybph <pwybph
Uwul wwhwugubtpht wwhwugubtpht
wutwlgh hwdwywwnwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud gk “X”/ nbwpnud ugkip “X”/
I «I:lmdhpu» U'ﬂC X
5 U/ Nniquiuuw X
<nyhwuthujwt
Opwph ypw ufuwy £ gpguwd
3 «Utd éhwéw‘u» umnp X fﬂme{hnuuanh hwugb‘u
4 | WA LwnbYy Uwjhywu X




Cunpjwé
dwutiwlhg
Uwutwlyhgub Uwutiw wnwowplwd
quqgggw T Guwutbuiygh oy ugl:;hh punl
wuyjwunwdp dwutwlygh
wmbntpp hwdwn ohi /wnwug UKL, ££ npwd/
“X”/
1 U/Q LwpbYy Uwjhywu X 2500
2 «I:qndhpu» Uan 4 145.8
W/a Nniquituw
3 <nijhwuthujw 25000
Quithwpwdhu 47:
Qudwu wnwplw & hwunhuwund' EiGYwnpnn
<pwybph <pwybph
wwhwugubtpht wwhwugubtpht
Uwutwlygh hwdw u
wwwwufuwuny | shwdwywwmwupjuwunn | Luhwiwwywunwufuwunieyui
</€ wujwunidp
hwjwnbp hwjwinbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubint
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:undhpu» Ufnﬂ X
2 U/ Nniquitw X
<nyhwuthujwu
Opwph ypw ufuwy £ gpyuwd
3 «Utod éhwéw‘u» umnp X "ﬂwmt{hnwmmh hwugh‘u
4 | WA LwnbYy Uwjhywu X
Cunpjwéd
dwutiwlyhg
UwutwYyhgub Uwutiw wnwowplwd
quqll:gﬁw é"h Uwutiwlgh /punpywd l'gi:}hn guiny
wujwunwdp dwutwlgh
wmbintpp hwidwin gk /wnwug UKL, ££ npud/
“X?)/
1 Wa LwpbYy Uwjhywu X 15000
2 «L‘,lmljhpu» umpe 22 908.3
W/Q MNniquituw
3 <nyjhwuuhujwt 23750




Qwihwpwdhu 48:

Qudwu wnwplw & hwunhuwund® dwinifu RK-50

<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutwlgh
hwdwywwwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «I:qndhpu» Ufnﬂ X
5 U/ Nniquitiw X
<nyhwuuhujwt
Opwph Ypw ufuw) £ gpdwd
3 «Utod 6hw6w‘u» umnpe X "ﬂme{hnuuanh hwugb‘u
4 | WA Lwpbly Uwihpwu X
Cunpjws
dwutwyhg
UwutwYyhgubphp Uwutwlgh /punnywd U wutiwlygh wnwowplyws
b ht? - wtiduitinuip Hutilgh = oy ugth << npud/
e huwdwn ugky S
“x"/
1 «Eyndppu» UMLC X 24 833.3
2 Wa LwpbYy Uwjhyw 220 000
Quithwpwdhu 49:
Qudwu wnwplw £ hwunhuwund' dwintju RK-75
<pwybph <pwybiph
wwhwugubtpht wwhwugubtpht
Uwutiwlgh
hwiwywwmwuluwunn | shwdwywunwupuwung | Luhwdwwywunwujuwuniejwu
</< wujwunidp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud ugb “X”/ nbwpnud gk “X”/
1 | «Eyndphpu» UMC X
2 U/ Nniqutuw X
<nyhwuthujwt
Opwph ypw ufuwy £ gnguwd
3 «Utod 6hUJ6UJU» umnpe X fﬂme{hnuuanh hwugb‘u
4 | W3 Lwpbky Uwjhpwu X




Cunpjwé
dwutiwlhg
Uwutwlyhgub Uwutiw wnwowplwd
quqgggw T Gwutbuiygh oy ugl:;hh punl
wuyjwunwdp dwutwlygh
wmbntpp hwdwn ohi /wnwug UKL, ££ npwd/
“X”/
1 U/Q LwpbYy Uwjhywu X 30 000
2 «I:qndhpu» Uan 74 750
Quthwpwdhu 50:
Fudwt wnwplw b hwunhuwund' dwintfu EiGYunpwlwu 2x4
<pwybiph <pwybiph
wwhwugubtphtu wwhwugubtpht
Uwutiwlgh hwdw
wwwwufuwunn | shwdwywunwupuwung | Luhwdwywunwujuwuniejwu
</< wuyjwunidp
hwjwnbp hwjwnbp hwdwnnun ufuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubint
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:qndhpu» umpe X
2 U/ Nniquituw X
<nyjhwuthujwt
Opwph ypw ufuwy £ gnpyuwd
3 «Utd 6hw6wb» umnpe X “'lwmd_hnwmmh hwugbh
4 | W3 Lwpby Uwjhpwu X
Cunpjwéd
dwutwyhg
Uwutwlyhgub Uwutw wnwowplwd
quqgggwénh Uwutwlgh /puinpqwd qgi:}hh guiny
wujwunwdp dwutwygh
wmbntpp huwidwp ot /wnwug UKL, ££ npwd/
“x"/
1 «I:lmdhpu» U’DC X 33 250
2 Wa LwpbYy Uwjhywu 35000




Qwthwpwdhu 51:

Qudwu wnwplw & hwunhuwund® nnwt hwlwup dhonty

<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutwlgh
hwdwywwwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «I:qndhpu» Ufnﬂ X
5 U/ Nniquitiw X
<nyhwuuhujwt
Opwph Ypw ufuw) £ gpdwd
3 «Utod 5hUJ6UJ‘U» umnpe X "ﬂme{hnuuanh hwugb‘u
4 | WA Lwpbly Uwihpwu X
Cunpjws
dwutwyhg
UwutwYyhgubphp Uwutwlgh /punnywd U wutiwlygh wnwowplyws
b ht? - wtiduitinuip Hutilgh = oy ugth << npud/
e huwdwn ugky S
“x"/
1 W/ Lwpby Uwihywu X 14 000
W/Q MNniquituw
2 <nyjhwuthujwt 20000
3 «I:lmdhpu» U’DC 21 633.3
Quithwpwdhu 52:
Qudwu wnwplw § hwunhuwund' nnwu hwlwu
<pwybph <pwybph
wwhwugubtpht wwhwugubtpht
Uwutiwlgh hwdw
wwwwufuwuny | shwdwwywwmwupjuwunn | Luhwdwwywunwufuwunieyut
</< wujwunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud gk “X”/ nbwpnud ugkip “X”/
I «I:lmdhpu» U'ﬂC X
5 U/ Nniquiuuw X
<nyhwuthujwt
Opwph ypw ufuwy £ gpguwd
3 «Utd éhwéw‘u» umnp X fﬂme{hnuuanh hwugb‘u
4 | WA Lwntby Uwjhywu X




Cunpjwé
dwutiwlhg
Uwutwlyhgub Uwutiw wnwowplwd
quqgggw é"h Uwutiwlgh l/jn‘ULnnL{Lué ugl:;hu punl
wuywuniudp wutwlygh
wmbntpp hwdwn ohi /wnwug UKL, ££ npwd/
HX”/
Wa Nniquituw
! <nyhwlthujwu X > 340
2 Wa LwpbkYy Uwjhywt 6 000
3 «Eyndhpu» UMLC 7 496.7
Quithwpwdhu 53:
Qudwu wnwplw § hwunhuwund' GBYpn nnwt unup
<pwybph <pwybph
Uwul wwhwugubtpht wwhwugubtpht
wutwlgh hwdwywwwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwufuwunipjwu
</€ wujwunidp
hwjwnbp hwjwinbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubint
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:undhpu» Ufnﬂ X
2 U/ Nniquitw X
<nyhwuthujwu
Opwph ypw ufuwy £ gpyuwd
3 «Utod éhwéw‘u» umnp X "ﬂwmt{hnwmmh hwugb’u
4 | WA LwnbYy Uwjhywu X
Cunpjwéd
dwutiwlyhg
UwutwYyhgub Uwutiw wnwowplwd
quqll:gﬁw é"h U wutiwlgh l/jghmpt{wé l'gi:}hn puiny
wujwunwdp wutwygh
wmbintpp hwidwin gk /wnwug UKL, ££ npud/
“X?)/
1 Wa LwpbYy Uwjhywu X 3000
U/Q Mniquituw
2 <nyhwuupujwu >9 000




Qwihwpwdhu 54:

Qudwu wnwplw £ hwunhuwund' GYpn nnwt hwlwu

<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutwlgh
hwdwywwwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «I:qndhpu» Ufnﬂ X
5 U/ Nniquitiw X
<nyhwuuhujwt
Opwph Ypw ufuw) £ gpdwd
3 «Utod 5hUJ6UJ‘U» umnpe X "ﬂme{hnuuanh hwugb‘u
4 | WA Lwpbly Uwihpwu X
Cunpjws
dwutwyhg
UwutwYyhgubphp Uwutwlgh /punnywd U wutiwlygh wnwowplyws
b ht? - wtiduitinuip Hutilgh = oy ugth << npud/
e huwdwn ugky S
“x"/
U/Q Mniquituw
1 <nyhwlthujwu X 12000
2 Wa LwpbYy Uwjhyw 15000
Quithwpwdh 55:
Yudwu wnwplw £ hwunhuwund' ynihdbpwiht huptwywsnit dwwwybu /uyny/
<pwybph <pwybiph
wwhwugubtpht wwhwugubtpht
Uwutiwlgh
hwiwywwmwuluwunn | shwdwywunwupuwung | Luhwdwwywunwujuwuniejwu
</< wujwunidp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud ugb “X”/ nbwpnud gk “X”/
1 | «Eyndphpu» UMC X
2 U/ Nniqutuw X
<nyhwuthujwt
Opwph ypw ufuwy £ gnguwd
3 «Utod 6hUJ6UJU» umnpe X fﬂme{hnuuanh hwugb‘u
4 | W3 Lwpbky Uwjhpwu X




Cunpjwé
dwutiwlhg
Uwutwlyhgub Uwutiw wnwowplwd
quqgggw é"h Uwutiwlgh l/jn‘ULnnL{Lué ugl:;hu punl
wuywuniudp wutwlygh
wmbntpp hwdwn ohi /wnwug UKL, ££ npwd/
“X”/
1 U/Q LwpbYy Uwjhywu X 2100
2 «I:qndhpu» U’HD 12 450
W/a Nniquituw
3 <nijhwuthujw 18 000
Quthwpwdhu 56:
Qudwu wnwplw § hwunhuwund' nuwipéwly
<pwybph <pwybph
Uwul wwhwugubtpht wwhwugubtpht
wutwlgh hwdwywwwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwufuwunipjwu
</€ wujwunidp
hwjwnbp hwjwinbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubint
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:undhpu» Ufnﬂ X
2 U/ Nniquitw X
<nyhwuthujwu
Opwph ypw ufuwy £ gpyuwd
3 «Utod éhwéw‘u» umnp X "ﬂwmt{hnwmmh hwugh‘u
4 | WA LwnbYy Uwjhywu X
Cunpjwéd
dwutiwlyhg
UwutwYyhgub Uwutiw wnwowplwd
quqll:gﬁw é"h U wutiwlgh l/jghmpt{wé l'gi:}hn puiny
wujwunwdp wutwygh
wmbintpp hwidwin gk /wnwug UKL, ££ npud/
“X?)/
1 Wa LwpbYy Uwjhywu X 10 500
U/Q Mniquituw
2 <nyhwuupujwu 26 700




Qwihwpwdhu 57:

Qudwu wnwplw £ hwunhuwund' EiGYunpwlwu jwdy

<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutwlgh
hwdwywwwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «I:qndhpu» Ufnﬂ X
5 U/ Nniquituw X
<nyhwuuhujwt
Opwph Ypw ufuw) £ gpdwd
3 «Utod 5hUJ6UJ‘U» umnpe X "ﬂme{hnuuanh hwugb‘u
4 | WA Lwpbly Uwihpwu X
Cunpjws
dwutwyhg
UwutwYyhgubphp Uwutwlgh /punnywd U wutiwlygh wnwowplyws
b ht? - wtiduitinuip Hutilgh = oy ugth << npud/
e huwdwn ugky S
“x"/
U/Q Mniquituw
1 <nyhwlthujwu X 49500
2 Wa LwpbYy Uwjhyw 55 000
3 «I:lmdhpu» U’DC 290 833.3
Quthwpwdhu 58:
Qudwu wnwplw § hwunhuwund' jwdy
<pwybph <pwybph
wwhwugubtpht wwhwugubtpht
Uwutiwlgh
hwdwywwnwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nbwpnud gk “X”/ nbwpnud ugkip “X”/
I «I:lmdhpu» U'ﬂC X
5 U/ Nniquiuuw X
<nyhwuthujwt
Opwph ypw ufuwy £ gpguwd
3 «Utd éhwéw‘u» umnp X fﬂme{hnuuanh hwugb‘u
4 | WA Lwnby Uwjhywu X




Cunpjwé
dwutiwlhg
wuyjwunwdp dwutwlygh
wmbntpp hwdwn ohi /wnwug UKL, ££ npwd/
UX”/
1 U/Q LwpbYy Uwjhywu X 223 500
2 «I:qndhpu» Uan 260 005
W/a Nniquituw
3 <nijhwuthujw 367 434
Quthwpwdhu 59:
Yudwu wnwplw § hwunhuwund" wpnwpht (nwwynpdw (wdy
<pwybph <pwybph
wwhwugubtpht wwhwugubtpht
Uwutwlygh
hwdwywwwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwufuwunipjwu
</€ wujwunidp
hwjwnbp hwjwinbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubint
nbwpnud gk “X”/ nbwpnud ugkip “X”/
1 «I:undhpu» Ufnﬂ X
2 U/ Nniquitw X
<nyhwuthujwu
Opwph ypw ufuwy £ gpyuwd
3 «Utod éhwéw‘u» umnp X "ﬂwmt{hnwmmh hwugh‘u
4 | WA LwnbYy Uwjhywu X
Cunpjwéd
dwutiwlyhg
UwutwYyhgubphp Uwutiwygh /punngwd U wutiwlygh wnwowplyws
qu;lhgnwé wujwunwdp dwutwygh Jwnw U.gth cc &/
ntnGpp hwdwp ok wnwug ’ nnuw
“X?)/
1 «I:lmdhpu» U’DC X 51 600
U/Q Mniquituw
2 <nyhwuupujwu 59600
3 W3 LwpbYy Uwihywu 90 000




Qwihwpwdhu 60:

Qudwu wnwplw £ hwunhuwund' jwdy

<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutwlgh
hwdwywwwuppwunn | shwiwywwnwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
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